
RACE # 07        LOGARITHMS MATHEMATICS

LEVEL-I

[SINGLE CORRECT CHOICE TYPE]

1. Consider the equation log10(x + p) = log10(x) + log10(p), where x is a positive real number. This equation has -

(A) no solutions (B) exactly 1 solution

(C) exactly 2 solutions (D) more than 2, but infinitely many solutions

2. The sum of all the solutions to the equation   2 log x – log(2x – 75) = 2 is

(A) 30 (B) 350 (C) 75 (D) 200

3. The number of solution of   log(2x) = 2 log (4x – 15) is -

(A) 1 (B) 2 (C) 3 (D) infinite

4. Solution  set of the equation   log(8 – 10x – 12x2)  = 3log (2x – 1) is -

(A) {1} (B) {3, 2} (C) {5} (D) f

5. Let x = 2log3 and y = 3log2
 where base of the logarithm is 10, then which one of the following holds good ?

(A) 2x < y (B) 2y < x (C) 3x = 2y (D) y = x

LEVEL-II

6. The product of all values of x which make the following statement true (log3x)(log59) – logx25 + log32  =
log354, is

(A) 5 (B) 5 (C) 55 (D) 25

7. Suppose that,   log10(x – 2) + log10y = 0   and   yx2yx +=-+

Then the value of  (x + y), is

(A) 2 (B) 22 (C) 2 + 22 (D) 4 + 22
8. The real value of x for which the statement log69 – log927 + log8x = log64x – log64 holds true, is

(A) 1/2 (B) 1/4 (C) 1/8 (D) 1/16

9. The real x and y satisfy simultaneously   log8x + log4y
2 = 5  and  log8y + log4x

2 = 7  then the value of xy is equal
to

(A)  29 (B)  212 (C)  218 (D)  224

[MULTIPLE CORRECT CHOICE TYPE]
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(A) no integral solution (B) one natural solution

(C) two real solutions (D) one irrational solution

11. In which of the following case(s) the real number 'm' is greater than the real number 'n' ?

(A) m = (log25)2 and n = log220 (B) m = log102 and n = log10
3 10

(C) m = log105.log1020 + (log102)2 and   n  =  1 (D)  
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12. Select the correct statement.

(A) log319 · log1/73 · log4 ÷
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(B) The equation log1/3(x
2 + 8) = – 2 has two real solutions.

(C) Let  N = log215 · log1/62 · log3
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. The greatest integer which is less than or equal to N is 3.

(D) The equation log4x + log4(x  +  2)  =  log4(3x)  has no prime solution.

13. For the equation xlogxlog x3x3
+ = 0, which of the following do not hold good?

(A) no real solution (B) one prime solution

(C) one integral solution (D) no irrational solution

[SUBJECTIVE TYPE]

14. If 2 3 4
2 4 8 162

log x log x log (x ) log (x ) log (x ) 40+ + + + =  then x is equal to

15. If 83log4log3log x29 1094 =+ , (x Î R), then x is
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